
BY

W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

www.wunderlich.de

A

1

Kennzeichenhalter seitlich
BMW Nine T 

Bestellnummer 38981-002/004

License plate holder on the side
BMW Nine T 

Part Number 38981-002/004

Portatarga sul lato
BMW Nine T 

Codice 38981-002/004

Support de plaque dímmatriculation sur le côté
BMW Nine T 

Pièce 38981-002/004

Soporte de matrícula en el lado
BMW Nine T 

Pieza 38981-002/004

M5x16

M5x10

M5x12

M8x60

M5x12



BY

W U N D E R L I C
H

G

B

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

www.wunderlich.de 2

F

24 Nm/17,5 ft.-Ib  

C D

E

M5x16

M5x12

M5x16



BY

W U N D E R L I C
H

Anbauanleitung     Fitting Instruction     Istruzione     Instructions     Instrucciones
Copyright by Wunderlich©

www.wunderlich.de 3

H I


